

13 مرداد (دوشنبه)

$$\alpha \beta = \gamma$$

$$p, v \quad m, \frac{v}{\alpha}$$

$$\alpha + \beta = \omega$$

$$\frac{f}{v} \times \frac{\alpha}{\beta} + \frac{\beta}{v} = \frac{\alpha}{\omega} + \frac{\beta}{\omega} = \frac{\alpha + \beta}{\omega} = \frac{\omega}{\omega} = 1$$

$$= \frac{\omega}{\omega} (1)$$

$$\frac{ent}{\beta \gamma} \leftarrow \frac{f \cdot \omega}{\beta \gamma}$$

$$m = \frac{1/\omega + \omega}{v} = \frac{\omega}{f}$$

$$S = km = 1/\omega$$

$$\sqrt{fk^v - v} = \frac{f}{v} k^v \Rightarrow \frac{1}{\alpha} k^v = k^v - v = 1/\alpha k^v = \omega k^v - 1/\alpha$$

$$(1 - \alpha k^v) \rightarrow \frac{k^v}{v} = \frac{q}{f} \rightarrow \left[\frac{q}{f} \right] = (E)$$

$$n_s = \frac{-b}{f \alpha} \cdot \frac{m \beta \cdot m \beta}{v} \quad A, B \quad n_s = \frac{-\Delta + \omega}{v} \rightarrow 1 \quad \int \frac{-b}{f \alpha} = S = -v$$

$$y = 1 + \alpha(n-1)^v \rightarrow y = \alpha n^v + \alpha n + \alpha = 1/\alpha + \beta = \omega$$

$$(-v)^v - v \left(\frac{\alpha n^v}{b} \right) = \omega = -\frac{v}{\omega} \quad S^v - \alpha \beta = \omega$$

$$-n^v + \alpha n + m = 0 \rightarrow n^v - \omega n - m = 0 \quad C = \alpha n = \frac{1}{\omega}$$

$$= \frac{\omega + \sqrt{\omega^2 + 4m}}{v} < q = \sqrt{m + v} < f = 1 \quad m \leq \omega$$

$$\{-\omega, -q, -f, -f\} \in \quad m > q$$

تبدیل برعکس

$$m > 0 \Rightarrow \frac{r m^r - \epsilon m - 1 \epsilon \epsilon}{\epsilon m} = \Rightarrow r = 1/m = 1/\epsilon \epsilon - \epsilon m - r \cdot m^r - 9$$

$$A = \sqrt{r \cdot r} = 1 \sqrt{r} \quad \frac{m + \sqrt{r} q}{1 - \frac{1}{r}} \quad \left(\frac{1}{r} \right) \quad \left(\frac{1}{r} \right) \quad \left(\frac{1}{r} \right)$$

$$\frac{b \cdot b - b + 5 \Delta}{r m} \quad \left(\right) m z r \quad - \frac{b}{r a} \quad m \quad \left(\right)$$

$$\alpha \beta \cdot \alpha^r \quad r a - 1 \cdot \alpha \beta \cdot \alpha^r \rightarrow r a - 1 \cdot \alpha^r - \alpha^r - r a - 1 = 0 \quad -V$$

$$(x-1)^r \cdot a \rightarrow \alpha z 1 \rightarrow m^r + v(a+1)m + r a + 1 = 0 \Rightarrow m^r + \epsilon m + 1 = 0$$

$$\boxed{\alpha \beta - 1} \quad \alpha + \beta = -\epsilon \quad z) \alpha = -\epsilon + \sqrt{r}$$

$$\beta = -\epsilon - \sqrt{r} \quad \alpha z 1 \quad \left(\right) m z z \quad -1$$

$$z \cdot m^r = \frac{v z + \sqrt{r} a}{r} \quad z) m z + \sqrt{\frac{v + \sqrt{r} a}{r}} \quad z) \beta \cdot z$$

$$\Rightarrow p = -\frac{v + \sqrt{r} a}{r}$$

$$\frac{-b}{r a} \cdot k \cdot a \cdot b \cdot \epsilon = \Rightarrow -\frac{\epsilon}{r k} \quad \left(\frac{r}{k} \right) = k \left(\frac{k}{r} \right) \cdot f \left(\frac{r}{k} \right) \cdot q$$

$$-\frac{\epsilon}{k} - 9 \quad -f \left(\frac{r}{k} \right) - r z - \frac{\epsilon}{k} - 9 = r \frac{1}{k} - \epsilon \Rightarrow \frac{\epsilon}{k} z r$$

$$g f \cdot -\epsilon - 9 \quad z \quad (-\infty)$$

$$-m - m - m + m + 1 \Rightarrow -m m^r + m m + m + 1 + m = 0 \quad z) m m^r - m(m+1) - m + 1 = 0$$

$$\Rightarrow m^r + \epsilon m + 1 + \epsilon m + 1 = 0 \Rightarrow \Delta = m^r + \epsilon m + 1 = (m m + 1)(m + 1) = (m m + 1)(m + 1) k_0$$

$$m z - \frac{1}{r} \quad \left(\right) m = -1 \quad -\frac{1}{r} \quad m = -1$$

م